9-16 Variable and absorption costing, explaining operating-income differences: Nascar Motors assembles and sells motor vehicles and uses standard costing. Actual data relating to April and May 2006 are: 
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The selling price per vehicle is $24,000. The budgeted level of production used to calculate the budgeted fixed manufacturing cost per unit is 500 units. There is no price, efficiency, or spending variances. Any production-volume variance is written off to cost of goods sold in the month in which it occurs.

1. Prepare April and May 2006 income statements for Nascar Motors under (a) variable costing and (b) absorption costing. 

2. Prepare a numerical reconciliation and explanation of the difference between operating income for each month under variable costing and absorption costing.

Already Answered:
 1. The difference between variable costing and absorption costing is that the fixed manufacturing expenses are expensed in the period in variable costing and are taken into inventory in absorption costing.
The unit cost under variable costing is $10,000 which is the variable manufacturing cost and it is 10,000+2,000,000/500=14,000 under absorption costing in April and 10,000+2,000,000/400=15,000 in May, since the fixed manufacturing cost is also taken to be product cost. 
	
	
	
	
	
	

	 Variable Costing
	
	
	
	
	

	
	April
	
	
	May
	

	Revenues (350 x $24,000; 520 x $24,000)
	
	 $8,400,000 
	
	
	 $12,480,000 

	Variable Costs
	
	
	
	
	

	Beginning Inventory ($10,000 x 0; 150)
	 -   
	
	
	 1,500,000 
	

	Variable Manufacturing Costs ($10,000 x 500; 400)
	 5,000,000 
	
	
	 4,000,000 
	

	Cost of Goods Available for Sale
	 5,000,000 
	
	
	 5,500,000 
	

	Ending Inventory ($10,000 x 150; 30)
	 1,500,000 
	
	
	 300,000 
	

	Variable Cost of Goods Sold
	 3,500,000 
	
	
	 5,200,000 
	

	Variable Operating Costs  ($3,000 x 350; 520)
	 1,050,000 
	
	
	 1,560,000 
	

	Total Variable Costs
	
	 4,550,000 
	
	
	 6,760,000 

	Contribution Margin
	
	 3,850,000 
	
	
	 5,720,000 

	Fixed Costs
	
	
	
	
	

	Fixed Manufacturing Costs
	 2,000,000 
	
	
	 2,000,000 
	

	Fixed Operating Costs
	 600,000 
	
	
	 600,000 
	

	Total Fixed Costs
	
	 2,600,000 
	
	
	 2,600,000 

	Operating Income
	
	 $1,250,000 
	
	
	 $3,120,000 

	
	
	
	
	
	

	 Absorption Costing
	
	
	
	
	

	
	April
	
	
	May
	

	Revenues
	
	 $8,400,000 
	
	
	 $12,480,000 

	Cost of Goods Sold
	
	
	
	
	

	Beginning Inventory ($14,000 x 0; 150)
	 -   
	
	
	 2,100,000 
	

	Variable Manufacturing Costs ($10,000 x 500; 400)
	 5,000,000 
	
	
	 4,000,000 
	

	Fixed Manuf. Costs ($4000 x 500; $5000 x 400)
	 2,000,000 
	
	
	 2,000,000 
	

	Cost of Goods Available for Sale
	 7,000,000 
	
	
	 8,100,000 
	

	Ending Inventory ($14,000 x 150; $15,000 x 30)
	 2,100,000 
	
	
	 450,000 
	

	Cost of Goods Sold
	
	 4,900,000 
	
	
	 7,650,000 

	Gross Margin
	
	 3,500,000 
	
	
	 4,830,000 

	Operating Costs
	
	
	
	
	

	Variable Operating Costs ($3,000 x 350; 520)
	 1,050,000 
	
	
	 1,560,000 
	

	Fixed Operating Costs
	 600,000 
	
	
	 600,000 
	

	Total Operating Costs
	
	 1,650,000 
	
	
	 2,160,000 

	Operating Income
	
	 $1,850,000 
	
	
	 $2,670,000 

	
	
	
	
	
	

	
	
	
	
	
	


2. The difference between the two methods is due to the inventory. In absorption costing, fixed manufacturing cost is a part of inventory and it is not in variable costing.
In April 

	Variable costing net operating income 

	$1,250,000

	Add fixed manufacturing overhead costs deferred in inventory under absorption costing (150 X 4,000)
	600,000 

	Deduct fixed manufacturing overhead costs released from inventory under absorption costing 

	      0   

	Absorption costing net operating income 

	$1850,000 


In April there are 150 units in inventory and the difference in cost is $4,000 which is the fixed manufacturing cost per unit

In May

	Variable costing net operating income 

	$3,120,000

	Add fixed manufacturing overhead costs deferred in inventory under absorption costing (30 X 5,000)
	150,000 

	Deduct fixed manufacturing overhead costs released from inventory under absorption costing (150X4,000)

	      (600,000)   

	Absorption costing net operating income 

	$2,670,000 


In May the 150 units in beginning inventory are sold and there are 30 units in ending inventory with a per unit fixed manufacturing cost of $5,000


__

I need this one answered:
9-17 Throughput costing (continuation of 9-16). The variable manufacturing costs per unit of Nascar Motors are:

[image: image2.wmf]
Required

1. Prepare income statements for Nascar Motors in April and May of 2006 under throughput costing.

2. Contrast the results in requirement 1 with those in requirement 1 of Exercise 9-16.

3. Give one motivation for Nascar Motors to adopt throughput costing.

